FA4 - F5: (Trigonometric Equations)

The product of all solutions of the equation cos x — 2sin? x + 1 = 0 in the interval
[0,2m) is

Trigonometric
Equations.

The sum of all the solutions of the equation cot8 + tan6 = 2, 0 < 6 < 2m, is equal to

3
A) |

3
B) ”
C)2m

A
D) 3
E)m

Trigonometric
Equations.




If 6 is the solution of 4sin? 8 + 2cos? 8 = 3,37" < 60 < 2m, thensecl =

A) V2
B) 2 Trigonometric
Q) —\/E Equations.
D) 253

3

243
E) - ==

The number of solutions of (cosx)(cosx +1) =2, 0 < x < 2m isequal to

A) 4
B) 1 Trigonometric
Equations.

C)2
D) 3
E)5

The sum of all the solutions of sin 2x cos x + cos 2xsinx = 0, 0 < x < « is equal to

A) 51

B) T Trigonometric
Equations.

C) 4r
D) 2n
E) 3w




The sum of all solutions of the equation sin™?x + tan™1x = 0 is

A) zero

B) a negative irrational number
C) a positive irrational number
D) a negative integer

E) a positive

Trigonometric
Equations.

_ R
If cos™! x = 2sin 1E,thenxz

1
A)E

V3
B)<

C)—=

2

D) -

2

E)1

Trigonometric
Equations.

The sum of all the solutions of the equation 2sin 8(sinf — 1) = 3(sinf + 1), 0 < 6 <

360°, is

A) 540°
B) 420°
C) 360°
D) 240°
E) 620°

Trigonometric
Equations.




The sum of all the solutions of cos@ — sin 0 = \/fsing, 0<f<2mis

A) 5?”

B) “T”

C) 52—"
17

D)T

E)%"

Trigonometric
Equations.

The sum of solutions of the equation cos 2x — cos x = 0, on the interval [0, 27) is
(@) 2m

(b) =

(c) 4m

d)3 =

(e) 5w

Trigonometric
Equations.

The sum of all solutions of the equation sin 2x + 2v/3cos x — sin x = /3 over the

interval [0,27) is

A) 21
B) 57
C)3m
D) 4n
E) 61

Trigonometric
Equations.




The sum of all solutions of the equation: tang =sinx, 0 < x < 2m is equals to

A) 2r
B)~
3
C) Y
D)r
E) 3w

Trigonometric
Equations.

If 6 is the solution of the equation 2tan 8 + sec? 8 = 4, 37" < 60 < 2mthencosf =

A) 0
B)
)2
D) L2

V2
E)?

Trigonometric
Equations.

The sum of all the solutions of sin (0 + %) + sin (9 - %) =-1, 0< 6 < 2m,isequal

to

A) 3
B) 57
Cn

D) 4n
E) 1.5

Trigonometric
Equations.




If 0 < x < 2m, then the number of all solutions of the equation 2sin (Zx + g) -1=0

is

A)4 Trigonometric
B) 3 Equations.

C)5
D) 6
E)8

The number of solution(s) of the equation tan x + /3 = secx interval [0,360°) is

A) One

B) Two Trigonometric
Equations.

C) Three

D) Four

E) Five

The sum of all the solutions of the equation 2 sin x cos x — 2sinx + cos x = 1, in the

interval [0,27) is

A) 31

5T Trigonometric
B) 5 Equations.
C)2m

4w
D) ey

E)%’T




The number of all solutions of the equation sinx —cosx = 2,0 < x < 2m, IS

A) 0

B) 2 Trigonometric
Equations.

C)3

D)4

E)1l

The sum of all the solutions of the equation 2 sin x cos x + 3cos x = 0 in the interval

[0,2m), is equal to

A) 21
Trigonometric
5
B) 7ﬂ Equations.
C)3rm
D)r
3m
E) >

. . . . 1
The sum of all solutions of the equation sin 3x cos x — cos 3x sinx — =0, where 0 <

x < 2m, IS
4T
A) 3 Trigonometric
B) 0 Equations.
51
C) Py
D)m

E) 3w




If 0 < x < 2m, then the sum of all solution(s) of the equation sin? x — sinx — 2 = 0, is

equal to

A)%"

B) n Trigonometric
5 .
C) ?ﬂ Equations.

D) 2r
51
E) >

The number of solutions of the equation 4sin? x + 2v/3sinx —+/3 = 2sinx,0 < x <
21 1S
A) 4

B)5 Trigonometric
C) 3 Equations.

D) 2
E)1

The number of solutions of tan? § = %sec 6 on the interval [0,2m) is equal to

A) 2

B)3 . .
Trigonometric

C)1 Equations.

D) 4

E)5

The number of solutions of the equation 4sin xcosx = V2, 0 < x < 2, is

(a) 4

(b) ! Trigonometric
(c)2 Equations.
(d)3

(€) 5




If 0° < x < 360°, then the number of solutions of the equation 4 tan x sin® x + tan x —

4+/3 sin? x — /3 = 0, is equal to

A) 2 Trigonometric
B) 3 Equations.
C)4

D)5

E)6

The sum of the solution(s) of the equation \/Esecg + 2 = 0, in the interval [0,27) is

A=
3T Trigonometric
B) 4 Equations.
C) 4n
D) 2n

E)m

The sum of the solutions of the equation csc? x — 2cotx = 0 in the inverval [0,27) is

A)%”

5 : :
B) = Trigonometric

2 .
Equations.
51

C)—

4
D)m
l

E)Z

4




) . . 1
The equation cos x cos 3x + sinx sin 3x = 5T <x<0,has

A) 2 solutions
B) 1 solution

C) 3 solutions
D) 4 solutions

E) 5 solutions

Trigonometric
Equations.

If 0° < x < 360°, then the number of solutions of the equation 4 sin x cos x + 5cos x =

0, is equal to

A) 2
B) 1
C) 4
D)0
E) 3

Trigonometric
Equations.

The sum of the solutions of the equation over the interval [0,27) 2 sin x cos x +

2sinx —cosx—1=0iIs:

A) 2m
B)r
31
C) >
D) 3m
7
E) -

Trigonometric
Equations.




The sum of solutions of the equation 2tan x = sec? x in the interval [0,27) is equal to

A=
B) -
C)5m
D)r
E) ="

Trigonometric
Equations.

The number of solutions of the equation: tang =sinx,0 < x < 2mis:

A)3
B) 2
C)1
D) 4
E)5

Trigonometric
Equations.

The sum of all the solutions of the equation 2cos x = sin? x — 2 in [0,2m), is equal to

A)m
B) 2r
C)3m

D)g

E) <

2

Trigonometric
Equations.




The number of solutions of the equation v3cot? x + cotx — 1 —v/3cotx = 0 over the

interval [O, 37”] is:

A) 3
B) 1
C)2
D) 4
E)0

Trigonometric
Equations.

4tan 6
1-tan2 6

Let n be any integer, then all solutions of the equation —2=0are

A) (1 +4n)~
B) (1+3n)7
C) (1+4n)="
D) (1 + 3n)§

E) (1+3n)=

Trigonometric
Equations.

The sum of solutions of the equation cos x cos 2x — sinxsin2x =0, 0 < x < 7, iS

A)%”

B)%’T

C)%"
D)S?"

E) 3m

Trigonometric
Equations.




The number of solutions of the equation 3 + cos 26 = 5cos 6,0 < 6 < 4m is equal to

A) 8
B) 10
C) 4
D) 6
E) 2

Trigonometric
Equations.

The sum of all solutions of the equation 2sin? x — cos x = 1 in the interval [0,37) is

A) 2m

161

B)T

11m

C) -
D) 3m

11m

E)T

Trigonometric
Equations.

The sum of all solutions of the equation —2 cos 2x sin 3x + 2 cos 3x sin 2x = v/3 in the

interval [—m, 7] IS

A) -Z

B) -~

C) =

3
D) —m

V[

E);

Trigonometric
Equations.




The equation sinx + cosx = 2, 0 < x < 2m, has

A) no solution
B) 3 solutions
C) 1 solution

D) 4 solutions

E) 2 solutions

Trigonometric
Equations.

The number of solutions of the equation 2cos? 36 — 2cos 36 — v/3cos 36 + V3 = 0;

0<x<2mis:

A)9
B) 4
C)5
D) 6
E) 3

Trigonometric
Equations.

The sum of solutions of the equation 2 sinzg = cos x, over the interval [0,2r) is equal

to

(@) 2m
(b) in
(3=
(d) 4r

(e) —m

Trigonometric
Equations.




If 0° < x < 360°, then the sum of all solutions of the equation 4cos 2x = 8 sin x cos x

is equal to

A) 630°
B) 135°
C) 505°
D) 545°
E) 475°

Trigonometric
Equations.

The solution set of v/3sin x + cosx — 1 = 0 is equal to

A) {an,%” + 2km, where k is an integer }
B) E + an,%" + 2km, where k is an integer }

C) {an, 2?” + 2km, %’T + 2km where k is an integer }
D) {2rk, where k is an integer }

E) {an,s?” + 2km, where k is an integer }

Trigonometric
Equations.




The solution set of the equation cot?x —cscx —1 =0, 0 < x < 2w is:
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Trigonometric
Equations.

The sum of all solutions of the equation 4 sin 2x + sin4x =0, 0 < x < 2w is

A) 31
B) ="

)=
D)
E) 57

Trigonometric
Equations.

The sum of all the solutions of the equation tanx cosx —tanx —cosx +1 =0, in

[0,2m) is equal to

A) 37"

B) g

C) 1?’7”
131

D)?

E)57”

Trigonometric
Equations.




The number of solutions of the equation 4 cos 8 sin & = +/3 over the interval [0°,360°)

is

A) 4 Trigonometric
B)5 Equations.

C)3
D) 2
E)1

B

The solution of the equation cos™* x + tan™?! 15—2 ==is

5

A) i

B) — % Trigonometric
13 Equations.
C) 5

13

D) — -

7
E)

. . . . 1
The sum of all solutions of the equation sin 3x cos x — cos 3x sinx — =0, where 0 <

x < 2m, IS

A=

3 Trigonometric
B) 0 Equations.

c) =

12
D)m
E) 3w




The solution set of the equation 2cos™?! (x_T”) =21 is

A) {mr — 3}
B) {r + 2}
C) {4 —n}
D) {2r — 3}
E) {m}

Trigonometric
Equations.

The sum of all solutions of the equation —2cos 2xsin 3x + 2cos 3xsin 2x = /3 on

[—m, ] is

A) -1
B) -3
c)—=
D)m
E) =

Trigonometric
Equations.

The number of all solutions of the equation sin 6 = sec8 for 0 < 6 < 2w is

(a) 0
(b) 1
(c) 2
(d)3
() 4

Trigonometric
Equations.

The sum of all solutions of the equation 4 cos?8 —4cosf = —1, 0<6 < 2m,is

(@) 2m
(b) 7
(c) 3w
(d) 47
()0

Trigonometric
Equations.







